1000
500

Residuals
= |

[@}Ne)]

o O

o O O

-1500

15

1.0

0.5

0.0

JIStandardized residuals|

Residuals vs Fitted

Residual Diagnostics

Normal Q-Q

[2)
© ]
] 8Os | 2 .
c©% 00 L
1 o8& —"°7°" © % o) D 0
o
] o()OOO OO OOOOOoO % -1 -
1 (b 30 E
2 -2
7 Ou46 S
| | | | | o)
2000 2500 3000 3500 4000
Fitted values Theoretical Quantiles
Scale—Location ® Residuals vs Leverage
— 0% g 2 036
o o028 =) 30 2 _] o (0] °©
o % o (®) g 1 9 %o o ©O
] fo) o o o (@] = (e} o [e}
o OO O O~ o ) bo] 0 @ (o]
W © o , OC'&) b o © OW
o) o 0 & 00 L (o] ) oo (o)
n o ° o° oo © i 5 © o @450
] o) o % 5 ---- Cook’s distance 460
| | | | | o) | | | |
2000 2500 3000 3500 4000 0.00 0.05 0.10 0.15

Fitted values

Leverage




